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3. sin(90°-A) = 3 A o, tanA O] 27 (F, 0°<A <90°)
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5. o AW T A F2A2? (F,0°<A<90°)

@O A9 #to] AXH tanA 2] g A}
@ A°] Zto] AXH cosA Q] F= ATt
® A9] #to] A sinA ] = At
@ sinA°] AL 1, HEE-2 00l

B tan90° 9] Zre Ask 2~ oltt
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@ sinA = cos(90° - A)
@ 1-2sin?A=2cos?A-1

® sin(A + B) = sinA +sin B
1

tan A =
® tan +tanA sin A cos A

® (sinA 4 cosA)? + (sinA — cosA)? =

A2 (& A Be
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A 74713 ABC o4 AB = 8cm , _4/3em-
BC =4V3cm & o, /B °] 277 . T

O 15° @ 30° @ 45°
@ 60° ® 75°
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@® 5 sin 20° >
x = 5sin Ly = —
. Y sin 20°
= 31 2 ©

@ x tan520° Y 551; 0
@ x tan520° Y= 008520O
@ x cos 20° ’ r= sin520°
© x=r—5. V= =



9.  (sin0°+3cos0°) X (cos 90° —2sin 90°) O] -2 A , tan 45° X cos 0° +
sin90° o] #l= B et & o, A+ B o] g7
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@ sing = BC @ cos = AB ® tan6 = DE

@ <inh < tan b B sinh = cos b



11. sinx = 0.2419, tany = 0.2867 & o, t}=

x+y o & Ford?

oA Fol &

2t sin cos tan
14° 0,2419 0,9703 0.2493
15° 0,2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
@D 19° ® 30° 3 31° @ 32° (B) 33°
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£ A= A 9IRS 7122 H em 9] w0l 9l=A] F5hi?

11N 30°

@ 30cm @ (20-10v3)cm
® (20 -10v6) cm @ 30v2cm
3 30vV6cm
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D 442 @ 443 ® 445 @ 447 ® 411
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@ 2(V3-1) @ 3(V3-1) ® 4(V3-1)
@ 5(V3-1) ® 6(V3-1)
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o2 1o HPAPHY ABCD oA A =
135°, AB = 6cm , BC = 8cm ©|t}. CD
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® 24vV2cm? @ 243 cm?
@ 123 cm? ® 6vV2cm?

® 12V2cm?



18. S T sinx + cosy 9] FH-2?
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20. o5 "3 Zo] AABC 9
4] BCLAD, ACLDE, /ABD

e

/DAE = 60°, AB = 10cm
o, CE ¢] Zo]&?
1
® 4v3cm @ 5v3cm ® 52\/§cm
12
@ vgcm ® 5cm
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D V7 @ 6v2 O 3VT @ 72 B 447
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® 110v3cm? @ 120 V3cm? ® 130 V3cm?
@ 124V3cm? 3 150 V3cm?
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® BC = CA °|tt.

@ 2BC = CA oJt}.

® CH = AH = 6 °|t}.

@ CH = AH = 6(V3+1) ot}
3 AB = 123 o]t}



24. o3 293 Zo| T A7 HA A k. LABC = /BDC =
90° ,
(DBC = 45°, /BAC = 60° ]2, DC = 3V2cm ¥ W], A7 FEl
AEBC 9] Ho]&?

@ 6(V3-1)cm? @ 6(V3+ 1)em?
® 9(V3-1)cm? @ 27(V3 -1)cm?
® 12(V3-1)cm?
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t}-S 123} 2o] o] sk A2 ABCD o4 AE = 2, FC = 8
. [DEC = 30° o]t} o] A}ztg 9] Wo]7} 20 o uj, DE ©] 207




